
https://www.leads4pass.com/1z0-1075-22.html
2024 Latest leads4pass 1Z0-1075-22 PDF and VCE dumps Download

 

 

 

1Z0-1075-22Q&As

Oracle Manufacturing Cloud 2022 Implementation Professional

Pass Oracle 1Z0-1075-22 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/1z0-1075-22.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

Latest 1Z0-1075-22 Dumps | 1Z0-1075-22 VCE Dumps | 1Z0-1075-22 Study Guide                                1 / 7

https://www.leads4pass.com/1z0-1075-22.html
https://www.leads4pass.com/1z0-1075-22.html
https://www.leads4pass.com/1z0-1075-22.html


https://www.leads4pass.com/1z0-1075-22.html
2024 Latest leads4pass 1Z0-1075-22 PDF and VCE dumps Download

QUESTION 1

A Manufacturing Engineer in a plant is creating an alternative manufacturing process for an item using its existing Work
Definitions. After copying from the existing Work Definition WD1 to the alternative Work Definition WD2, the engineer
finds that the operation items were not copied in the alternative manufacturing process WD2. Identify the reason. 

A. The Production Priority was not populated in the new Work Definition WD2 during creation. 

B. The Item and Structure Name in the existing Work Definition WD1 were retained in the new Work Definition WD2 as
well during creation. 

C. The Item and Structure Name were changed in the new Work Definition WD2 during creation. 

D. The Start Data was not populated in the new Work Definition WD2 during creation. 

Correct Answer: D 

 

QUESTION 2

The Plant Manager informs you that they have bought several machines for their manufacturing plant ABC. The plant
has been set up with a separate cost element set ABC in Manufacturing Cloud. You are requested to configure these
machines in such a way that those are costed to the work order for which operations are performed on these machines.
Identify the correct setup that you will advise to the Plant Manager. 

A. Set up the machines as cost element type of "Resource" by selecting Cost Element set ABC. 

B. Set up the machines as cost element type of "Overhead" by selecting Cost Element set ABC. 

C. Set up the machines as cost element type of "Overhead" by selecting Cost Element set Common. 

D. Set up the machines as cost element type of "Resource" by selecting Cost Element set Common. 

Correct Answer: D 

 

 

QUESTION 3

During a Manufacturing Cloud implementation, the customer request to develop Oracle Transactional 

Business Intelligence reports that are not available out-of- the box. 

Identify the tool that is available to the Report Developer in Manufacturing Cloud to develop the reports. 

A. Oracle Business Intelligence Standard Edition 

B. Oracle Business Intelligence Publisher 

C. Oracle Business Intelligence Enterprise Edition 

D. Oracle Business Intelligence Application 

Latest 1Z0-1075-22 Dumps | 1Z0-1075-22 VCE Dumps | 1Z0-1075-22 Study Guide                                2 / 7

https://www.leads4pass.com/1z0-1075-22.html
https://www.leads4pass.com/1z0-1075-22.html
https://www.leads4pass.com/1z0-1075-22.html


https://www.leads4pass.com/1z0-1075-22.html
2024 Latest leads4pass 1Z0-1075-22 PDF and VCE dumps Download

Correct Answer: B 

 

 

QUESTION 4

The Manufacturing plant has two 8-hour shifts for the work center WC1: Day Shift and Night Shift. You associate four
units each for resources R1, R2, R3, and R4 to the work center WC1. The customer wants to assign all units of
resource R2 available for Day and Night Shift. Identify the correct sequence of steps to achieve this requirement. 

A. Associate Resource R2 with Work Center WC1> Select Available 24 Hours check box> Resource Availability region>
Enter 4 in Day Shift Column> Enter 4 in Night Shift Column. 

B. Associate Resource R2 with Work Center WC1> Deselect the Available 24 Hours check box> Resource Availability
region> Enter 2 in Day Shift Column> Enter 2 in Night Shift Column 

C. Associate Resource R2 with Work Center WC1> Select the Available 24 Hours check box> Resource Availability
region> Enter 2 in Day Shift Column > Enter 2 in Night Shift Column. 

D. Associate Resource R2 with Work Center WC1> Deselect the Available 24 Hours check box> Resource Availability
region> Enter 4 in Day Shift Column> Enter 4 in Night Shift Column. 

Correct Answer: C 

 

QUESTION 5

Your customer has completed the required setup steps for automatic work definition. Identify the option that shows the
navigation steps needed to create an automatic work definition. 

A. Manufacturing > Work Definition> Manage Work Definitions> Actions> Create automatic work definition 

B. Product Management> Product Information Management> Items> Edit Item > Actions> Create automatic work
definition 

C. Manufacturing> Work Definition> Manage Standard Operations> Select default standard operation> Actions> Create
automatic work definition 

D. Manufacturing > Work Definition> Manage Standard Operations> Create automatic definition 

Correct Answer: C 

 

QUESTION 6

A Production Operator needs to load Work Order Transactions from an external system into Manufacturing 

Cloud. 

Identify the correct sequence of tasks to be performed. 

A. Load Data to Fusion repository> Export File to UCM server > Process Import Operations Transactions> Load file
from UCM to Interface table. 
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B. Export File to UCM server> Load Data to Fusion repository> Process Import Operations Transactions> Load file from
UCM to Interface table. 

C. Load Data to Fusion repository> Export File to UCM server > Load file from UCM to Interface table >Process Import
Operations Transactions. 

D. Load Data to Fusion repository> Load File from UCM to Interface table> Export File to UCM server> Process Import
Operations Transactions. 

Correct Answer: B 

 

QUESTION 7

You are in the process of defining a Standard Operation for visual inspection. You want the completion of this standard
operation to be reported in all work orders that reference it. Identify the setup that will fulfill this requirement. 

A. Select the Automatically Transact check box while defining the Standard Operation. 

B. Deselect the Count Point check box while defining the Standard Operation. 

C. Select the Count Point check box while defining the Standard Operation. 

D. Ensure that the Charge Type of the resource is Automatic. 

Correct Answer: C 

 

QUESTION 8

A manufacturing plant works for two shifts of 8 hours each. The Manufacturing user wants a work center resource R1 of
4 units to be available during a nonworking time outside the regular shift on a particular day. Identify the sequence of
steps to create a resource exception in the Manage Work Center Resource Calendar page. 

A. Click Outside the existing Shift time on a Specific Date> Create Work Center page> Click the Resource Availability
tab> Click Add icon> Select R1 from Resource Drop-down list> Enter 4 in Default Units Availability column. 

B. Click Inside the existing Shift time on a Specific Date> Action Menu> Select Create Resource exception> Populate
Start and Duration Field> Resource Availability region> Populate 4 units in Default Availability column. 

C. Click Inside the existing Shift time on a Specific Date>Create Work Center page>Click the Resource Availability
tab>Click Add icon> Select R1 from Resource Drop-down list> Enter4 in Default Units Available. 

D. Click Outside the existing Shift time on a Specific Date> Action Menu> Select Create Resource exception> Populate
Start and Duration Field> Resource Availability and Overrides Region> Populate 4 units in Availability Override column. 

Correct Answer: D 

 

QUESTION 9

A production Supervisor has noticed that Work Orders created manually are overwritten by the plan runs 

executed by Planning Central. After discussing this issue with the Planner, two actions are recommended 
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to prevent the Work Orders from being overwritten by plan runs. 

Identify the two recommendations. 

A. Update Supply Plan Options, Overwrite Firm Planned Orders = None. 

B. Update Firm flag in the Details region of the Edit Work Definition page. 

C. Update Firm flag in the Details region of the Edit Work Definition Names page. 

D. Update Firm flag in the Details region of the Edit Work Order page. 

Correct Answer: AD 

 

QUESTION 10

Your Customer has implemented Oracle Cloud Manufacturing and the Manufacturing user is in the 

process of defining Work Definition and Operations. However, this user is unable to assign an ad hoc item, 

Grease, to an operation. 

Identify the reason. 

A. The user doesn\\'t have Override Item Structure Components in the Work Definition privileges. 

B. An item cannot be assigned on an ad hoc basis. 

C. The user doesn\\'t have access to the PIM module. 

D. The user doesn\\'t have Data access to create item structure. 

Correct Answer: B 

 

QUESTION 11

Identify two reports that provide work order cost-related information to the costing user. 

A. Work order Operational Analysis 

B. WIP Balance by Plant 

C. Purchase Variance Summary 

D. Cost Accounting Dashboard 

Correct Answer: AD 

 

 

QUESTION 12
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A user wants to transfer the work order status updates and resource transaction data for costed resources 

to Cost Management. 

Which scheduled process should you run to achieve this requirement? 

A. Transfer Cost to Cost Management 

B. Transfer Transactions to Costing 

C. Transfer Ledger Balances 

D. Transfer General Ledger Balances to Balance Cubes 

Correct Answer: A 

 

QUESTION 13

As a production supervisor, you require immediate access to critical shop floor execution systems to take 

action while on the go. 

Which four work order related actions can be taken in the Manufacturing Supervisor mobile application? 

A. Executing standard work order and updating item and resource usage 

B. Creating a new standard or non standard work order 

C. Searching for work orders and sending them through e-mail 

D. Releasing work orders using quick swipe details 

E. Reviewing operation, component, and resource detail 

F. Reviewing customer information of work orders 

Correct Answer: CDEF 

 

QUESTION 14

You are setting up Fusion Manufacturing to support Back-to-Back Fulfillment. Identify an option that needs to be set for
oracle Fusion Planning Central to plan back-to-back item components and resources. 

A. Select the Used in Planning check box in the new Work Definition. 

B. Select the Used in Planning check box in the Work Definition Names. 

C. Select the Used in Planning check box in the Work Structure. 

D. Select the Used in Planning check box in the item definition. 

Correct Answer: B 
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QUESTION 15

Your customer has multiple distribution centers and a few manufacturing plants. Plants make different items with some
overlap between them in terms of products manufactured. The distribution centers stock parts from all plants. A
Corporate Engineering team is responsible for centrally defining items and catalogues. This team defines the items and
sets the attributes for most parameters. The respective distribution centers and manufacturing plants are allowed to
change some attributes locally. Identify two different ways of achieving this requirement. 

A. Set up Plants as Inventory Organizations, Distribution Centers as Item Organizations, and Corporate Engineering
organization as Inventory Organization. 

B. Set up Plants as Inventory Organizations, Distribution Centers as Inventory Organizations, and Corporate
Engineering organizations as Item Organization. 

C. Set up Plants and Distribution Centers as Inventory organizations and Corporate Engineering organization as Item
Organization 

D. Set up Plants and Distribution Centers as Inventory organizations and Corporate Engineering organization as
Inventory Organization. 

E. Set up Plants as Inventory Organizations, Distribution Centers as Item Organizations, and Corporate Engineering
organization as Item Organization. 

Correct Answer: BC 
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